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15 4

15 4 1

15 1 0 OA
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r
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(a) Q 15 3
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(b) P
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15 4 2
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d = 2r
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 PQ, AB  CD PQ > AB  PQ > CD,
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(i)  O
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 O
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r s 15 11

15 11

(ii)   (i)  (ii)  O
1
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2
.

(iii) S  (i)  (ii) 

 15.12  PAQ = RBS POQ=
 ROS  POQ =  ROS 

 PAQ =  RBS.

 15.13,  PAQ = arc RBS

 PQ = RS

PQ = RS

PAQ =  RBS.
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(i) O 

(ii) PQ RS ( . 15.14)

(iii) OP, OQ, OR  OS 

(iv) Measure  POQ  ROS 

 POQ =  ROS

 POQ =  ROS

 PQ = RS

15 1 15 15 PQ = RS
PQR

PQ RS

OR

PQR QRS

PR =  QS

15 2 15 16 AB = BC

 AOB = 30o  AOD = 70o.  COD 

 AB = c BC

 AOB =  BOC

 BOC = 30o

 COD =  COB +  BOA +  AOD

= 30o + 30o + 70o

= 130o.
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. 15.19
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(i)  O 15 17

(ii) PQ

(iii) O ONPQ

(iv)  PN NQ

PN = NQ.

(i)  O 15 18

(ii) PQ

(iii) PQ M

(iv)  Q M

(v)     OMP OMQ

OMP = OMQ = 900.

A,B C AB BC

AB BC MN RS

A,B,C MN, RS
O OA OB OC

O OA
A,B C
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. 15.20

(i)  O 15 20

(ii) AB PQ

(iii) OM AC ON  PQ 

(iv) OM ON

15 20B OM ON

AB PQ

15 3 15 21 O

ON PQ  PQ = 8  ON = 3  OP

ON PQ

 PN = NQ = 4 cm

OPN 

OP2 = PN2 + ON2

OP2 = 42 + 32 = 25

OP = 5 

15 4 15 22

D  A,B ( )

O, CB CB

ABC O D ABC BC AB 1

OD =

2

1

  CA

CA = 2OD.

T
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15 29

5. .15.30  PQ =  QR, POQ = 150 SOR = 110o. SOP. 

15 30

6. . 15.31, AB  CD,  O BD = 
CA ?

15 31

7. AB  CD, O 15 32  OM  AB, ON
 CD.  OM = ON ?

15 32
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8  15.33, AB = 14  CD = 6  o
AB  CD 

15 33

9.  15.34, AB CD, O, P

15 34

OM CD, ON AB  OPM = OPN. Now answer:

(i) OM = ON, (ii) AB = CD ? 

10. C
1

  C
2
 ,O (  15.35), l    C

1

  P   Q   C
2

  A   B  , ON  l,  PA = BQ 
?
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15 1

1. (i)   (ii) APB 2. 3.

4. I 5. 6. 5

5

7. (i) 44  (ii) 69.14 8. 9.

1. 10 2. 2a 3. 72o

4. 1 5. 80o

6.  ( )

7. ( )

8. 10 2 9. (i) (ii)  (MP ONP)

10.  (N  PQ AB )


